ERRES

m B AR EIESAS (E4105mEB)

OBV EEEN
g fir i B 4 HE (k g) Bl 48 Ha) | 18 AR EB®)
147 Mooon 396,654 85.3 7.6
2 i n ¥ i 204,313 8.0 5.7
3 | O b <A 226,453 102.3 4.4
| afr 2 S 188,348 4.8 3.6
5L ® S 5} 184,116 %5.6 3.5
6 fiL = v ES 128,30 8.6 2.5
7L R e bS5 119,872 2.1 2.3
5 8 fif BN U] 110,260 9%5.5 2.1
9 i 7z VY 8,747 110.1 1.9
10 fir =X 7= o %, 0.9 1.9
- e ) fth, 3,361,817 0.4 64.5
= it 5,205,351 2.3 100.0
JIE§ Az o H 4 e (M) BT 4E Fhe) | M R M)
i | ®» F 6 £ <A 346,284, 784 108.0 6.0
2L i + 258,907,928 9.2 4.5
31z 2 S 246,698,143 %.9 4.3
4| afr i 3 i 242,618,433 9.6 4.2
5L xoF <A 239,463,803 87.8 4.2
6 ir e o\ 5 197,773,120 RB.1 3.4
74 oy = 5 195,214,863 4.1 3.4
| sfr woowm oz W 166,180,484 %.9 2.9
off | W W £ < A 117,520,131 53.3 2.0
10 i 7 VY 116,341,911 112.1 2.0
- % D fth, 3,639,710,825 %5.8 63.1
& 5 5,766, 714,425 A2 100.0

(2)fitfa
JIE§ Az oOE 4 B (kg) Bl 4E Ehes) | M AR PR
i | iF b £ <A 226,453 102.3 10.9
2 S v ES 128,30 83.6 6.2
317 PR D B 119,872 2.1 5.7
¥ | afr BN ) 110,260 %5.5 5.3
5\ 7= A 8,747 110.1 4.7
6 fir =X 7= Y %,31 90.9 4.6
7L 7= al 8,841 9.7 4.3
Bl 8t | ¥ 5 H W 7 ,8% €2.8 4.3
9fir » r 0,709 17.6 3.3
0 | A F < A 5,675 89.6 3.1
- e D it 990,30 86.7 47.6
= 7 2,085,504 89.6 100.0
N a B A & ([) R AE Lhes) | M K )
i | ®» F 6 F <A 346,284, 734 108.0 13.9
2L K% < A 239,463,803 87.8 2.6
3. | mowm o <A 117,520,131 5.3 4.7
& 4fr 7= W 116,341,911 12.1 4.7
57 7= el 107,201,275 %.6 4.3
6 fir o) C 85,600,778 9.8 3.4
74 = 5] 7,524,364 83.1 3.2
| sfr = 7= 5 75,453,651 9.0 3.0
9 fif. BN ) 75,36,30 5.6 3.0
10 fif. H o) B 63,122,825 100.0 2.7
- = D 1t 1,187,32,225 100.3 47.5
& it 2,498,252,106 %.6 100.0




(3ynffa

JI§ A7 moH 4 BE (k g) BT AR Eh(s) | A BK H()
1 w0 W 95,375 0.7 14.0

2\ wmow o 68,149 118.4 10.0

3L Y S A T /N 57,651 97.8 8.5

| afr IR o 45,771 150.1 6.7
SO | & W OIE 7= H 26,800 %.8 3.9

6 fiL m W R M 26,112 8.9 3.8

7L R /A e 24,943 73.3 3.7

| 8fL VTR B S el ) 18,54 106.1 2.7
9 i moWm o A F 15,3% 8.5 2.3

000 | & WO y; 14,955 .7 2.2

- - D s 285,172 97.5 P02

& 7t 678,913 9.5 100.0

JIE§ Az OB 4 L% (M) B4R Ehs) | 1 Ak HE)
10 w2 W 166,180,484 4.9 18.6

2L wom Iz 80,948,874 8.8 9.1

3L w»ow o 64,280,782 113.7 7.2

& afr | O OFE - = @2,364,7% 97.2 7.0
5\ moW = F 49,977,949 13.9 5.6

6 ir Y R A /N 4,417,002 1%0.5 4.6

74 SR S = S A ) 3,871,657 112.8 4.4

| s wooWw R 24,978,930 100.5 2.8
9 i IR X 9,431,933 .1 1.1

10 i w i ) & 6,408,774 103.4 0.7

- x D 1t 346,900,334 9%5.2 38.9

= g 1,761,555 0.4 100.0

(- DI, - 20t
JIE§ Az oOE 4 B (kg) Bl 4E Ehes) | M AR PR
147 S B U 3%,6%4 85.3 16.3
2 i n ¥ i 294,343 8.0 12.1
317 2 S 168,348 4.8 7.7
| afL i S 52 184,116 %5.6 7.5
5\ it + 771,0% 101.1 3.2
6 fif =] gy 6,187 89.3 2.7
| B X O L A 57,577 8.1 2.4
B | 8fr 1M & 53,904 110.1 2.2
OfL | /N H o Y — k= 53,631 %.0 2.2
10 fif. 2] ¥ 43,25 110.9 1.8
- e D it 1,025,713 4.5 4.9
= 7 2,440,934 2.8 100.0
JIE§ Az mm B 4 &% (1) B4R bhs) | B AR ERGR)
14 it + 258,907,928 9.2 10.9
21 2 IS 246,698,143 %.9 10.4
3z m 3 i 242,618,433 2.6 10.2
4| afr Moo m 5 197,773,120 3.1 8.3
54 i) S o 195,214,863 4.1 8.2
6 fir B + 87,4,470 107.6 3.7
747 1H & 71,528,325 12.1 3.0
B sfr | N Ah oo Y — & — 54,868,618 %.7 2.3
of | & X & L A 49,242,6% 2.9 2.1
10 fif & oy 47,143,772 3.3 2.0
- = D 1t 905,225,476 2.1 3.9
& it 2,376,700, 764 %0.9 100.0




